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N = 0 &8 AF S & Al A
20008 =4 1 3 LBkl H =4 ~ =4t
A 4D
M A ZHE A5
SR A RS Y R (e
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
N 36,176,758 31,101,097 5,075,661
= 7,358,836 6,431,640 927,196
= 14,514,000 14,514,000 0
p) 3,325,000 0 3,325,000
= 16,500 16,500 0
< 10,587,422 9,763,957 823,465
e 375,000 375,000 0
St FME A5 36,089,808 31,005, 147 5,084,661
=2 7,358,836 6,431,640 927,196
g 14,514,000 14,514,000 0
Dl 3,325,000 0 3,325,000
= 16,500 16,500 0
== 10,500,472 9,668,007 832,465
L 375,000 375,000 0
oY Y O 2,857,015 2,671,700 185,315
= 511,000 250,000 261,000
s 1,546,000 1,546,000 0
= 16,500 16,500 0
< 783,515 859,200 NAT75,685
THNE RSAIEHE 918,750 1,143,750 A225,000
= 100,000 250,000 A 150,000
= 649,000 649,000 0
< 169,750 244,750 275,000
403 XXM SK=20lH 918,750 1,143,750 225,000
= 100,000 250,000 A 150,000
s 649,000 649,000 0
== 169,750 244750 A75,000
01 MXISMA=EE=X 918,750 1,143,750 225,000
OLAAE(HEE)AEINS 100,000 0 100,000
=2 100,000 0 100,000
OFHMNE 58 HA =4 0 325,000 A325,000
= 0 250,000 A250,000
< 0 75,000 A75,000
FAQIEIHIA S A 506,105 95,550 410,555
=2 411,000 0 411,000
= 16,500 16,500 0
< 78,605 79,050 A445
202 0OfH| 4,005 4,450 A445
01 2 Y| 4,005 4,450 A445
Ol et 2 N445 0 A445
308 XX HHSOIA 460,100 49,100 411,000
=2 411,000 0 411,000
= 16,500 16,500 0
= 32,600 32,600 0
06 WEI|AHNUSEES 438,500 27,500 411,000
Oogel nesd 2 JI=X 411,000 0 411,000
=2 411,000 0 411,000




SAM: A
A M0 Z3HE 25
S Mg Y OOfE (&2 &
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
SAEHNY Y 24 4,160 4,400 A 240
203 LR F=&H| 2,160 2,400 N240
03 AMFEXYRF=ZXIH| 2,160 2,400 A 240
OulatE 2 A 240 0 A 240
g B, 22 6,894,712 5,948,402 946,310
= 6,242,000 5,471,640 770,360
== 652,712 476,762 175,950
HEXExs2elssH N 1,159,000 831,910 327,090
= 925,000 661,640 263,360
== 234,000 170,270 63,730
403 NXISMSK201H 1,147,000 819,910 327,090
= 925,000 661,640 263,360
= 222,000 158,270 63,730
01 MXISMAEE=xR 1,147,000 819,910 327,090
O XeadelssHd K&
1,850,000, 000& *62% 1,147,000 819,910 327,090
= 925,000 661,640 263,360
== 222,000 158,270 63,730
HEH G XA 630,400 15,000 615,400
= 517,000 10,000 507,000
= 113,400 5,000 108,400
308 AXIHMSOIN 15,000 0 15,000
= 10,000 0 10,000
< 5,000 0 5,000
01 AXSHMBAEXZ 15,000 0 15,000
OYUXHE MelAlg(H=2HH)
20,000,000%75% 15,000 0 15,000
= 10,000 0 10,000
= 5,000 0 5,000
403 XXM SK=201H 615,400 15,000 600,400
= 507,000 10,000 497,000
== 108,400 5,000 103,400
01 AMXISMAEE=X 615,400 15,000 600,400
OMZHEHT AIEXIA 724,000, 000%85% 615,400 0 615,400
= 507,000 0 507,000
= 108,400 0 108,400
OYUXHAE MelAtg(H=23H) 0 15,000 A 15,000
= 0 10,000 A 10,000
= 0 5,000 A5,000
HEXEH 2 284,312 301,492 A17,180
201 2Er243H| 189,692 204,692 A 15,000
02 =323l 172,392 187,392 A 15,000
OularE 2 A 15,000 0 A 15,000
202 O4H| 19,620 21,800 N2,180
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SN EB -GS - MBAY - BES Arel p/E-T" HRE2
02 EHNYI 14,620 16,800 N2,180
Oullat= 22,180 0 AN2,180
SHHIHBII2AE XS 21,000 0 21,000
308 NXIHHSOIH 21,000 0 21,000
08 JIEtRE= 21,000 0 21,000
OEEHHIHBII2EXS 70,000, 000& *30% 21,000 0 21,000
MR B .84 13,515,081 9,662,045 3,853,036
= 587,836 692,000 A 104,164
s 5,412,000 5,412,000 0
Il 3,325,000 0 3,325,000
S 3,815,245 3,183,045 632,200
2 375,000 375,000 0
=2 J|gtE 4 935,400 766,200 169,200
= 64,000 192,000 A 128,000
s 300,000 300,000 0
Il 65,000 0 65,000
S 506,400 274,200 232,200
206 M=l 40,000 45,000 25,000
01 M=zl 40,000 45,000 A5,000
Ol &HE 2 A5,000 0 5,000
403 XX SHMSAH20IH 895,400 721,200 174,200
= 64,000 192,000 A 128,000
s 300,000 300,000 0
Il 65,000 0 65,000
= 466,400 229,200 237,200
01 AXEHMA2E xR 895,400 721,200 174,200
Ox=ttsE 2g 2l 65,000 0 65,000
Il 65,000 0 65,000
OU=8 EE0JII S4X& 50,000 0 50,000
OAotel &4l JIEHAIE 200,000 0 200,000
OU =8 el st &X 70,400 211,200 A 140,800
= 64,000 192,000 A 128,000
S 6,400 19,200 A 12,800
HHLADIBIE A 4,495,000 920,000 3,575,000
= 15,000 0 15,000
Il 3,260,000 0 3,260,000
S 1,220,000 920,000 300,000
308 MHXIHHMSOIA 2,800,000 0 2,800,000
Il 2,800,000 0 2,800,000
01 XM EXS 2,800,000 0 2,800,000
OgZol E#HEIIS =H 2,800,000 0 2,800,000
Il 2,800,000 0 2,800,000
403 XXM SA201H 1,695,000 920,000 775,000
= 15,000 0 15,000
Il 460,000 0 460,000
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300,000
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460,000
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100,000
400,000
0
0
0
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460,000
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8,836
1,862,000
702,125
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0
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108,836
8,836
0
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Mo

2,002,336
8,836
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681,500
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0
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108,836
8,836
0
100,000
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8,836
400,000
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0
0
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18,000
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0
0
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0

,200,000

100,000
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580,500

18,000
250,000
312,500

380,500

18,000
250,000
112,500

200,000
0
0
200,000
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580,500

18,000
250,000
312,500

380,500

18,000
250,000
112,500

200,000
0
0
200,000
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50,000
150,000

380,500
0
0

200,000
50,000
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86,950

95,950

/9,000
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A HAH2AAH(=4D)
e D23l (&9 HM
SAN-ZH-SA(FA) - NFAY - BES (il & OH J|E Hlw &2
01 AtR2teld] 41,000 45,000 24,000
oua& 24,000 0 24,000
202 O] 41,750 46,750 /5,000
01 2o 41,750 46,750 A5,000
oouata 25,000 0 25,000




